A & 0l & A &2 F Al
20188 &= =0l& LB S AL2CAMRL
DAL ECAIR A
D RAMEE 2l 2
P HJIE RAMHC (&)
SA - BB B () - MM - BES Ol &t o San HmEET
ZAEZCIMBL 5,955,792 5,596,043 359,749
J| 8,600
Al 5,947,192
Mg E 22 29 1,474,839 1,612,274 A 137,435
J| 8,600
Al 1,466,239
HIIE fI4Xel 1,474,839 1,612,274 A 137,435
J| 8,600
Al 1,466,239
& 2al 901,707 1,120,142 A 218,435
101 @124l 172,897 152,469 20,428
4 JI2ZtHZ22 s+ 172,897 152,469 20,428
OZAAIH QI 2 172,897
—QIMHEE FULANRA =2 147,988
ole e 69,2403 «5H 25«12 103,860
FEEY 69,2403 «5H 42 <123 16,618
2tALH| 2,000 x5H 62 +23| 1,240
- AMTHEE = 153,714,000& *2.508% 3,856
-NE8EE 153,714,000 *1.5% 2,306
-ATEEE 153,714,000& *2.95% 4,535
=003 153,714,000 *4 . 5% 6,918
ZAREI EIHZ 69,2408 x5H 25U x1H 8,655
—SIANEZEUMEL ==22UR 10,440
e 87,0003 *3H 10 43| 10,440
— M EE 2EA AFY 14,469
- o12Y 60,7403« 1H 25«73 10,630
- FRrY 60,7403 x1H 42«73 1,701
= PN RS 60,7403 x1H+73 426
- 2HAMH] 2,000& x1H 62 +23| 248
MANEE = 12,757,000& *2.508% 320
NE2E= 12,757,000& *1.5% 192
HAEE = 12,757,000 *2.95% 377
=0z 12,757,000& *4.5% 575
201 Yet2 | 485,935 487,298 A 1,363
01 At 22l 44,600 33,135 11,465
Oger==8H| 28,960
—d2AsHE OQAZEXN 2
80,000& »1CH x6 2 480
—0lHIl SNl 150,000 =10 »23] 300
—NEANE Ea UEE 1,200, 000& *33| 3,600
— Xlots HIZEM == (2I113])
600, 000& *43] 2,400
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i AU 22 23

S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—ANEF HolE A23A 42
200,000& =123l 2,400
—ANRA S AYAE HY 242
1,500, 000& 14 1,500
—dJjerd e el =8 13,200
SIAEZCANRL 600,000& 128 7,200
SASHESAL 500,000& »12& 6,000
—EEA S MIILH EH(HIAA &
= 1,100, 000& * 13| 1,100
— A2 =X 224 200,000& 122 2,400
—XgAHZE EE e 7Y
15,000 »100& 1,500
-2 A== (2718) 20,000 *43| 80
Oul=l 2,270
—Y2Yz4 ¥R P (ot, sHII-4,0t)
50,0003 =4 XH 200
— S 2% 5,000& x23H 115
— S orH G 50,000& »23H 1,150
— S AYES 25,0003 »23H 575
—HEd 882 29 10,000& »23H 230
O= &l 13,370
—HEH H&ZRT 244
8,000& x19 10 1,520
— MEZRX 2tAl| 3,000 *3H %2502 2,250
—mNE H=IA £ 24|
8,000 «25% 43| «12& 9,600
02 2324l 441,335 454,163 A 12,828
O332= MHMAZ31= 256,055
—S&¥H ¥ Y SEFEER 552
=N 120,000 *2CH 13| 240
22 104,000 1CH 13l 104
Exawl 104,000 +2CH =13l 208
—Xg MY Y SEEES 1,898
HIZ(158) 532,000 *2CH 13 1,064
A XS (8E) 331,000 *1CH*13] 331
RS 336,000 x1CH*13] 336
2 At 167,000 101 13l 167
— XEZA Y HIIBEAME 77,0002 x50 x13] 385
— &8l EJIZA =3 39,000& x50 x13] 195
— NS XA 65,000 +50H * 13 325
—SFNERE = 70,0003 +5CH 23] 700
—MEstA U RS MIeI(Lerny)
20,000,000& x12& 240,000
—MEEd Mdotx=E23 1,000,000& 123 12,000
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i AU 22 23

S HIIZ2 AN (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
-/
O ZHl 6,740
~HE XA UYS
1,200 *4L*8H*952 » 1JH 2 x90% 3,284
~H2 FUBAREA U
1,200 4L *8H*252 » 104 2 x40 2 *90% 3,456
OA& ZEHl R Xl 32,400

—JIAHAE S22/t

1,500, 000& «12& *90% 16,200
—&IJIANE S22l
1,500, 000& «12& *90% 16,200
OXtg & el 138,240
—HE8 SZH(EEHM,.240,228d) =
] 3,000,000 =122 *90% 32,400
— e HH(EZEZH20) ==2clyl
2,000,000 =122 *90% 21,600
OHE&EH SRUESSX 2 90)
1,300 *12L*4H+300L » 10CH *45% 84,240
OZF&dE a2z 8 2zl 7,900

50,0002 %2524 x63] 7,500
— IS8 HH P2%EBH 100,000 43 400
202 01t 8,853 8,853 0
01 2Lhol bl 8,853 8,853 0
O+E2A 2 52,6002 x22 * 128 1,263
OSIMMBE HEX A8 210,8008 *38 x4l 2,530
ONY ALFZ 220l 210,808 +62 43l 5,060
206 T 2 | 124,022 124,022 0
01 2 HI 124,022 124,022 0
ONMBE LHAS AEIY(MEH)
38,5002 %12 #2502 9,625
O AHHAB(LHA) 2
3,2502 *10L %2502 8,125
O S8 RETY 1,872
- 828R 2,30021 1204 *63] 1,686
—FAA(ISE IH FY)
3,6002! 5kg+ 122 216
OJIHANE SME HOE 1,000,000 14 1,000
OJIH %218 KR (H0IEel)
1,000,000 *14} 1,000
OSE8 EATY 10,0002 %10,000m 100,000
ORI 22F2e(H0lE S 2)
200,000 *122 2,400
401 AIEHI L 201 bl 110,000 70,000 40,000
01 Al bl 110,000 70,000 40,000




HIACIMR A

M AN 22 2g
£ AdxHel

BB - S (31) - MRAY - BES Ol &t o San HmEET
Olgd 2 =5 H2AE LA
30,000,000& =14l 30,000
OUEE AFRA o9 &IIBY DI A
10,000,000& *1JH £ 10,000
OE&M ARHEE Wbl (otREZet4T)
70,000,000& =14 70,000
HAstzdg 564,532 483,532 81,000
201 Let249] 219,768 165,768 54,000
1T AFR 22|l 12,764 62,764 A50,000
Oget=gH| 12,764
— SAD| FXZeH(EW 7Y S)
350,000 = 1CH =32 1,050
—dolM ZgHd EH #¢ 237,000& »23] 474
— HWAIZ2 S22 110,000 = 1CH »23] 220
—SAMEX 7Y 20,0003 x25t A %128 480
—Jlg E2ESHI 150, 000& *23| 300
—H=Z A2 4,000
S 200,000& =123l 2,400
2 200,000& *43| 800
=A== 200,000& *43] 800
—EHl E2ZA =8 110,000 43 440
— NEEAIE ZIIBA =2
2,000,000 x13] 2,000
~HI2N HYSE YIS
2,000,000& » 14 2,000
—JIEt HHEZ FALOISHAS 2d )
800,000 » 14! 800
—aY 2L 33 1,000, 000& *12] 1,000
02 =524l 207,004 103,004 104,000
O232= % HAl 1,244
—XIEFHIEY L SEEEE 827
AEEH(5E) 497,000 x1CH* 13 497
204 330,000 x1CH+13 330
— XEEAE FIHEAZ 117
LEEH(E) 77,0002 x1CH 13 14
220 40,0003 x1CH*13 40
—ESZNERE S 150, 000& *23| 300
OXte & Byl 5,760
— XEEH & =X 5,760
L E(5E) 2,400,000& = 1CH x90% 2,160
- &AH(224) 300,000& »12& 3,600
OA& &8s Xl 200,000
—&3AL2e 2E JH £ AERA
200,000,000& =14 200,000
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i AU 22 23

Sl HolE YA (Sl & &)
SA - BB B (EH) - NRAY - BES of & o San HI D2
202 o4 4 2,108 2,108 0
01 SLHOYI 2,108 2,108 0
Obl=Z A2 2 52,6008 x1H %123 632
O&Hl 423 A2 2 52,6003 1 43| 211
OXEstAE R OH|
210,800& »2H 32 1,265
206 M= Hl 215,656 215,656 0
I\ K= 215,656 215,656 0
OSASH= & &+ HMlds5 7| 70,896
—Old=22 A 269,000& *20kg* 12& *90% 58,104
—0d=LEAN 25,0008 x75+128 2,100
— €M 59,4002 x15&+ 12 10,692
Oseg(+2x2) 45,000 «180m « 12 *90% 87,480
OJIHItsE *F+7Y 6,480
—Rgeg 2,300 «200L+12& 5,520
—JleY 2,500& *20L* 128 600
— el 3,000& ~x10Lx12& 360
OJIAx=ele NHMTAL (AXMLHBEHNE S 16
E) 40,000,000 =14 40,000
O+=3EZ & 2HFY 10,800
— 2H =8 23 & = (PON750MA)
400,000 »6CH 2,400
—2H+=3 =38 I (PON7521)
350,000& ~6CH 2,100
— 26 (20HP) 1,200,000& *3CH 3,600
— 26 (10HP) 600,000 »3CH 1,800
— 2 H(3HP) 300, 000& »3CH 900
401 AIEBIZ 2 CHYI 127,000 100,000 27,000
01 Al&HI 127,000 100,000 27,000
OSAZ2E HII2Ha L2A& DA
100,000, 000& 14! 100,000
OsSAasA2=ANe 3+ UAH Xots+ 23
He 27,000,000 = 10K 2~ 27,000
EAFEIA XA 8,600 8,600 0
Il 8,600
308 NtXIEHMSOIE 8,600 8,600 0
Il 8,600
MIIEtRES 8,600 8,600 0
OogdaA =X SXNXE AL
8,600,000 12| 8,600
Il 8,600
S$Z0UXNME 22029 3,965,812 3,484,473 481,339
S#Z0UXNMEHSS 3,965,812 3,484,473 481,339




FA: BIAEZEARA
M AU XNMEH 2223
©el: BFHUKMEHEY (S &2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SIUHUHXNMHSE 3,965,812 3,484,473 481,339
201 £B-2d| 5,346 4,586 760
01 At 22l 4,866 4,106 760
o2g+¢ 700
—ESZUXNAE SnEIRIAE &Y
70,0003 x5H »23| 700
Oget=&H| 4,166
—SZ30UXEH AIRE a0 MEZ-EHEY
- 237,000& »1CH *23] 474
—SZ30UXEEH AIRE SAD EH ¥ &
g 2 350,000& »1CH*23] 700
—SZUHUXME AIRES THAZ2EH 2¢
110,000 =10 23] 220
—ESZHUXNAH EAEE 2
150, 000& 14 150
—S#Z0UXAE A2 JH=EEX 2
80,000 »1CH x62 480
—S3HUXNMEH H2W HOoMEZEH R
22| 237,000& *1CH *62 1,422
~SZUUNME SAST 7L
20,0003 32t A %128 720
02 =24l 480 480 0
O3 & HA 480
—EFUUXME A2 8 AHY MEZ
30,000& »12& 360
— UM RHES AIER
10,000& = 12& 120
202 O4dl 1,687 1,687 0
01 = LH o4 Hi 1,687 1,687 0
OZZ0UXNME 282 A2 2
210,800& x2H *43| 1,687
307 glz2tol & 3,958,779 3,478,200 480,579
05 RIZHRIE 3 3,958,779 3,478,200 480,579
Odt==el A XMelAlE 2teltfedhl
3,410,847,000& 1= *61% 2,080,617
OMEHIISHEXEIANE AE2H 29|
3,130,270,000& * 1 *60% 1,878,162
MEES(BEANE22AR L) 403,507 392,982 10,525
UWEAHANXKES (A EZLARL) 403,507 392,982 10,525
FHOts =UXNAIIS =8 403,507 392,982 10,525
702 J1SHES 403,507 392,982 10,525
01 JI3dE= 403,507 392,982 10,525
Ot AL 2eARA FRHOIS FUXRAIIS 403,507




N BIAEL2ANRA

By YRES(HIANLBAANRL)
Sl WRAHAHXS(2FEAEZLARL) (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
“EEA=E BxgS
2,837,791,000& = 10%* 100% 283,780
- B28=2S ABY
268,909, 000& *10%* 100% 26,891
—AEE HII2 B2
26,682,000& *10%* 100% 2,669
—sA2 HII2 gYsar
257,970,000& =10%* 100% 25,797
—HEHIIES =2
334,812,000 *10%=*100% 33,482
—0UXME DEHE B =2
282,485,000& =10%* 100% 28,249
—HEItA HEAE =23
26,385,000& =10%* 100% 2,639
HY2IZH (BHE AL 2L AR L) 111,634 106,314 5,320
QlA2HY (BB AIL2LIARL) 48,911 48,911 0
QlARAH|(EHZ AL 2 AMRL) 48,911 48,911 0
101 @124l 48,911 48,911 0
01 8= 48,911 48,911 0
ORYTLL(YBHAT)
83,040& * 19«62 x50% 48,911
I 2 (S AIE2E2ARA) 62,723 57,403 5,320
Jl2dul (BB AIE2LIARA) 62,723 57,403 5,320
201 L2l 20,543 19,063 1,480
01 At 22l 20,543 19,063 1,480
Oggt=&H| 9,791
—Jlg AR E3Hl 100,000& 16X 1,600
— ZgH |2l 237,000 *4CH 33 2,844
— SAI RAAHI(EH 2L S)
330,000 »1CH x4 3] 1,320
— WAL RA22 110,000& »1CH =23 220
—SASI 7Y 20,0003 x62 A+ 128 1,440
—ARA R0 8]
122,200 10 A+ 123 1,467
—Jl2 F2E3Hl 150, 000& *62l 900
O= &l 10,752
— MR S2044l
8,000& x 16 7L 128 10,752
202 oddl 38,400 34,560 3,840
01 =L o4 1l 38,400 34,560 3,840
OXJAYF=A 2
20,000 «16H «103] x12& 38,400
203 R =&l 3,780 3,780 0
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